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SIHAE 20184

Oll &FXb= 0 =0l A

A2 - S8 HAAEIS

OPN=EINE= (Cho): ®Me)

& o A = Xl & A &
&t = 2| oH HEATHH s gt = INE HECX|ESH s

= A 347,070 337,295 9,775 | & p.| 347,070 337,295 9,775
PSpell= 0 200,000 A200,000 | HI S AL H] 0 0 0
EES= 0 0 0| 8RS AFZHI 0 0 0
a2 0 0 0| oleegy| 0 0 0
o eeeny 0 0 0|22 0 0 0
NEr225% 0 0 0|03 342,184 0 342,184
OIXI 23] 337,295 135,154 202,141 | 01X 2 4,886 337,295 A332,409
=} 0 0 0| Rt=ele|Sats 0 0 0
Ol K=&l 9,775 2,141 7,634 | Ol22ieiS4tEt 0 0 0
JIEF 0 0 0| JIEHKIZ 0 0 0
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Ol&kRE ¢ =0k
SR 280 HARIZDIZ
@ >YH= ol 1)
IR XL T = A E U o
TSIkt
200 M2l 4,889 2,141 2,748
210 ZEA2A+=Y 4,889 2,141 2,748
216 OlXt==g 4,889 2,141 2,748
216-01 SS0USO0IA== 4,889 2,141 2,748
O0IXIZ Okt 4,889,000& = 4,889
700 BE=USLLHEIHH 342,181 335,154 7,027
710 Ed=2S 337,29 135, 154 202,141
714 HXI3=2l= 337,29 135, 154 202,141
714-01  OIXI=al= 337,295 135,154 202,141
OUIXI= 2= 337,295,000& = 337,295
720 LHS Hch 4,886 200,000 A195,114
722 HESX0+== 4,886 0 4,886
722-04  GI& =01kt 4,886 0 4,886
OUIEZ OlXt=+=¢ 4,886,000& = 4,886
= g & A 347,070 337,295 9,775
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Oll&EXb== 0 20l A
HFE - 82 AR IS

® XIEHE (S &)
ZX .22 . HH . O - NRAY - BES INE- HMET XS Hlnsz2

2 347,070 337,29% 9,775
TIPS 347,070 337,295 9,775
WS (L) 347,070 337,295 9,775
SIS (222 HARIEIIZ) 4,886 337,295 A332,409
CES=NVbN 4,886 337,295 A332,409
602 GilXI= 4,886 337,295 A332,409
01 oix= 4,886 4,886 337,295 332,409

OuxI2 4,886,0002 = 4,886
SHAXE (B2 A2D12) 342,184 0 342,184
LHEAHRNXIE 342,184 0 342, 184
704 GIEF2 342,184 0 342,184
01 ole= 342,184 342,184 0 342,184

OvlEt2 342,184,0002 = 342,184
X = & A 347,070 337,295 9,775
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(et ERH)
24 9 & & o

O:‘Et” (=] S TIA T = A9 EOH

T He | moe=2 | g2xz | o= | R | a2 Ol Xt JIEt H ©® HIEXS | SAd | pmzau | A3V | 022 | JIEL | (@-D)
e =9 | (oxzs) TS Aol ENe]| AHL | AFIH| | %213 | g3sE | 2iEae | KIS

20124 kAl | 13,049,253 | 11,890,000 0 0 0 0] 1,159,253 01 13,021,916 | 12,981,500 0 0 0 0 40,416 27,337
20139 & 100,916 100,000 0 0 0 0 916 0 0 0 0 0 0 0 0 100,916
201449 & 1,006 0 0 0 0 0 1,006 0 0 0 0 0 0 0 0 1,006
201549 & 3,250 0 0 0 0 0 3,250 0 0 0 0 0 0 0 0 3,250
201649 &= 2,645 0 0 0 0 0 2,645 0 0 0 0 0 0 0 0 2,645
20179 % 202,141 200,000 0 0 0 0 2,141 0 0 0 0 0 0 0 0 202,141
20189 & 9,775 0 0 0 0 0 9,775 0 0 0 0 0 0 0 0 9,775
Al 13,368,986 | 12,190,000 0 0 0 0] 1,178,986 01 13,021,916 | 12,981,500 0 0 0 0 40,416 347,070
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Oll&EXb== 0 20l A
ATz - SE2 ARSI
| Al AR (cre): M
OIXI 2 ol
22 01 XI(=) A bl
2016 =S H 017HELSHTHH@ 2018 =LSHTHHD EE(OZ6))
Bl 135,154 337,295 347,070 9,775
Xz B 135,154 337,295 4,886 332,409
=8 135,154 337,295 4,886 332,409
HE= ] 0 0 342,184 342,184
s2eI3 0 0 342,184 342,184
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